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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. The orbital speed of a low orbit satellite is O SLIBS S Lot & 14

8000ms™' (D) 800ms ™! (©) 8ms™! (8) zero (A

2. The work done in lifting a brick of Ends S YLl F S Smets el LS S K2 2

mass 2kg through a height of 5m above the ground will be

100 | (D) 50 (©) 10 (B) 25]  (A)

3. ' One horse power is equal to ~g-brsls of Uiy 1 3
756 W (D) 750 W (©) 746 W (8) 740W (A)

4,

= . " -4
The co-efficients of linear -4 bbb chle F¥ Kot SUg U2 odly st weds @ S O Ut

expansion and volume expansion are related by the equation
a

=3 © Rl (©) B =3a ® B=a - (@4

5. In system international, the unit of Young's modulus is - a— a1 u’;:r :fn u:‘fﬁfm (’ -5
Nm™ (©) Nm™ (©) Nm™ (8) Nm (A)

6. Rooms are heated using gas heaters by gl & ¢ o« e Jus Cimst 8

conduction only ‘fﬁf (B) convection and radiation %1t st S (A)
convection only u':gf (D) radiation only Jff i, (C)

7. Global warming is due to a gas -9_;/! i o ¥ By JK -7
Carbon monoxide  X#U/T Jr ¥ (B) Oxygen T (A)
chlorine LK (D) Carbon dioxide U7 Jisen¥  (C)

8. An utmost suitable instrument to measure the  —¢J7 Us» i a';_'l.)?}" HKWIHY 2o 8

internal diameter of a test tube is

vernier callipers J{J_f o (B) meter rule o (A)
screw gauge é' z/‘ (D) measuring tape =1} g?_\_; (C)
9. A change in position is called -.;_Ju{ (,b,"' v u"-)g -9

distance J«( (D) displacement .25 s (C) . velocity S (B) speed i (A)

10. The rate of change of momentum is equal to ...;-_Jn P TE g ‘J_:J_/. 9 ﬁ‘? i
torque e (D) time ...-.3 (C) mass JL (B) force u'u" (A)

11. Inertia depends upon - A ¥ o 211
weight @Jis (D)  velocity (U (C) mass Ji (B) force ud (A)

12, Racing cars are made stable by (fi ujgjlg Jee I UK L 12
decreasing their mass f_fﬂji. (B) increasing their speed Sy £ (A)

decreasing their width L./ fJi};; (D) lowering their centre of gravity <. & &2/ ST A (©
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Marks : 48 438
Time : 1 : 45 Hours Subjective (J&) &1 :45: = )
-’q{{fa{.fﬁs‘:a-«uv {2)J:¢.J:Q:'.gﬁf;:.ﬂ?_§.djﬂdﬂ:..q Y
Note : Section I is compulsory. Attempt any Two questions from Section II.
2.  Write short answers to any Five Parts : (5x2=10) _2’,‘:,..-:.;{;!/#&'!2@;:-3:” -2
I. What is difference between base quantities and derived el SLis e O/ WUAUIAG 3P0 1t St <i
quantities. Give one example of each.
ii. Estimate 14 years age in seconds. O K QV 14 i
fii. What is meant by significant figures of a measurement? -&Je L e e Urn A Je i
Give one example.
iv. Differentiate between Random and Linear motion. % > --’-_‘,’L_—g-_JL:J) ch-,-""r ;g:?;:l_ r'f"c»* -iv
v. Can a body moving at a constant speed have acceleration? v;.ﬂn FRAHE Uil ST o e 22 ¢ oo
vi. If action and reaction are equal ‘-'q_bf 4@/‘17 [/ Jf AV Lkt or Vg L Ly LI ol c/i‘:' A i
and opposite then how does a body move? _
vii. What is meant by momentum? Write its formula, &y g Seslp Yoo 4 Lvii
viii. Differentiate between centripetal and centrifugal force. Sk O U S Sp b JE S _viii
3. Write short answers to any Five Parts : (5x2=10) -&::-Uﬁ/:'é:d}-’féka-ljf -3
i. Define Neutral equilibrium and give its example. -G s gy P S EAE e
fi. Find the vertical component of a -zl wandin® €1 o b o ¥ 30° AL 51 - X P Sk 50 i
force of 50 N making an angle of 30" with X-axis. R
iii. State Law of Gravitation. kI ¥ S s S i
Iv. Why does value of "g" vary from place to place? Y:,..G.ﬂg){ <, un® ._ib'_c-‘-f S gt v
V. What is difference between artificial and natural satellites. Som O ULAUS U Q0 ool S5 _y
vi. Define work and write its S.| unit. L Ly S s L § s i
vii. How do we gain energy from air? s SN G .':f < n A _vii
viii. State the Einstein's Mass-Energy equation and write it. it Zuk wbls G- § ST viii
4.  Write short answers to any Five Parts: (5x2=10) -&:wgwﬂé.!zféga.df ~4
I. State Hook's Law. SZ Uk U ¥ o i
ii. Differentiate between strain and tensile strain, _2_.7’-:5!:&} U< S U
iil. Define Young's modulus and write its mathematical form. el B gL & AT ) I Y
iv. Differentiate between temperature and heat? S0/ YA =7 i 5‘/—?‘ -iv
v. Write any two uses of thermal expansion. _av o ET gy ;.J:’Z e JJ’; -V
vi. Define conduction and convection. WSS o o i
vil. Whatis the difference between land and sea breezes? Sou I/ Y U SFnl Su r‘-j = vii
viil. Whatis Greenhouse Effect? Sel ol Ut oS i
( Section -11, . (3 o)
(Each guestion carries Nine (5 + 4= 9 ) marks (t/ (5 + 4 . 9) ) Ldivrn)
WS eI P L Skg it o e O g P ¥ Lo EPL ULBkg Ud 1 (a)-5
§5.(a) A force acting on a body of mass Skg produces acceleration of 10ms™. What acceleration the same
force will produce in a body of mass 8kg?
(b) Write down types of motion in detail. -2 ke O G ()
6.(a) A car weighing 12 KN has speed 20ns"! ek S0 G Sy A - 20ms™ 48 3 12KN {0 (a)-6
Find its Kinetic energy
(b} How many conditions are needed for a body AT So i S 12 il & SESGE S l’) N (b)
to be in equilibrium? Explain it
Sl Ag ot lag = ? & 20 Nd1s &E U < 10 mm 2L LIELA -= U 8 LG KLkt (a)-7

7.(a) The head of a pin is a square of side 10 mm. Find the pressure on it due to a force of 20 N.
(b) Define specific heat. Also derive the equation of il ahle § A Jas Z WS o e

specific heat capacity )
13 - 119 - 42000
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Paper:I  (Group:II ) ;_:»/ ( Academic Sesslon 2018-20 ) (yslipn) 1 i 24

Marks : 12 Objective ((55*) 12 :

Time : 16 Minutes A Code : 5478 2 151 2Dy

A bl /CL:G/’I:JL-'?&W‘C.,-b’.‘_-.-m.uz.u-fu:ﬂ:éé.;é:.irﬁdfrﬁ{(éb’dlﬁ ..u_h’i..' Z>D s C,B A &l_-fﬁ.‘-elv'&d'fﬁ Y
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. The value of mass of earth is -q..an ed S St 1
6x10*" kg () 6x10%kg (¢ 6x10%kg () 6x10%kg (A
2. Aforce of 10 Nis making an - wtnf & Uit ce Ol 200 ¥30° AL A1 =X uod off § U610 -2

angle of 30°  with the horizontal its horizontal component will be

8.7N (D) 7N (C) 5N (B) 4N (A)

3. Unit of momentum is ce 2 K 5 L3
Ns™ (D) Ns (©) Kgms™ (B) Nm (A)

4. Co-efficient of friction is equal to ~gslz w&! iy u’;’ -4
 E+R (0) i;‘ ©) F,xR (8) -E"- (A)

5. The motion of a body about its axis t-; called. _q.Jufu’rJf- » 3 Jif;f:;r.r -5
rotatory motion o SRy (B) circular motion g /V/ (A)
random motion oY ks (D) vibratory motion ¥ Sk 4 (C)

6. Which of the following is the smallest quantity? -;..J){.;...../ S uff;df Ji s -6
5000 ng (D) 100 mg (C) 2 mg (B) 0.01g (A)

7. Rooms are heated using gas heaters by Dok i b q.Cr/ 4.../4. Je L4 u‘-’-r <7
conduction f’ - (B) Convection and radiation c/‘—-é.r 7l ﬂy" (A)
convection S (D) radiation FIdL  (©)

8. Thermal conductivity of air is e GRS S In 8

0.6Wm™ K™ (D) 0.026Wm K™ (c) 105Wm 'K (B) 245WmT'K™'  (A)

9. Co-efficient of volume expansion of copper is - w&;‘f L eug A rx.’l; ¥ 46 -9

3.6x107°K™" (o) 7.2x107°K"! () 6x107°K™! (B) S.Ix10°K™ (A

10. Which of the substance is lightest one? tetle o Cab) 2 & -10
lead .= (D) aluminium ,4*;!:1 (C) mercury d/ff (B) copper 45’ (A)

11. Rate of doing work is called &S LA SLS S 1
momentum (‘—k;, (D) power .t (C) torque It (B) energy g/ (A)

12. The S.I unit of work is - Y SUK S 12
Pascal | (D) Watt b () Joul Uz (B) Newton ¢ (A)
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Note : Section I Is compuisory. Attempt any Two questions from Section II.

(Section - I (J3 )

2. Write short answers to any Five Parts : (5x2=10) -ﬁ:@&fﬁxx’f—»'mg&a—di’ -2
i. Define atomic physics and nuclear physics. S S S R S L
i. Whatis meant by prefixes? et U e Ay i
iii. What is vernier callipers? Write its least count . & oK e ?q;_k"i_,qr-"( s i
iv. Differentiate between Random and Linear motion. -éc)ir-u"/i e jé‘-') s Phzs Liv
V. Diffe;'entlate between distance and displacement. -a;.fug‘ 3/ s ‘C.uf-*ui s Al Ly
vi. State Law of Conservation of momentum. ' -k U K P L5 i
. vii. Define Force and Inertia . S S s d i
viii. Differentiate between mass and weight, “ZEEWS) SAuis s b Vil
3. Write short answers to any Five Parts ; (5x2=10) ' -:ﬁ:a;wﬁ”&,rmégc_é/ -3
i. What is meant by Rigid Body? Sesls Uan $3) dov i
ii. State LawofMoments, ..455.' (f Jri ¥ u"‘r -ii
iii. Define gravitational field. “EwS S w8 S i
iv. What are artificial satellites? Give ite two uses. & gt g L el e U S iy
v. On what factors the orbital speed of a satellite depends? ?q_Jn /"’ gu.-;_?,d(af:/ J/ LuﬁzJJ o lf( -V
vi. Define work and energy. _z.’-.'...gﬂ JJ./" sl iy Vi
vii. What is meant by potential energy? Write its equation. L S Se sl G d"":{ = vii
viii. Define chemical energy. Write its two sources. & B & EEWF SGH L i
4.  Write short answers to any Five Parts: (6x2=10) -&:ﬂv&lﬁ/yﬁr'mé&:—&f -4
i. Define stress and write its S.1 unit. -gZ2 &y Sl f-i-’:'-y/:" wa” -
ii. State Hook's Law and write its equation. & oty Uy 2L U 96 ¥ i
iii. What is meant by plasma? Sesly Y Lt il
iv. Define internal energy:. LS SGaTE v
v. What will be the temperature on Keivin -¢- 20°C Z:-/:} 4&:‘: r.ﬁ'"‘r L¢ Y ,Z-/;" {J:{' o v
Scale whenitis 20°Con Celsius Scale?
vi. Define thermal conductivity. Write its S.I unit. b oy s o ZEy P SELSF i
vii. Write uses of convection currents. & oy £ u"}" u‘gf Vi
viii. What is Greenhouse Effect? e VeBussy oS i

(Section - 11, - s @)
(Each question carries Nine (5+4 =9 ) marks t /7 (5+4 = 9) ) LJirg)
St Kmh™ Ly Sep ol &b e ot 64 100 -0/l AL AN L0.5ms™? e doeds ikl (a)-5

6.(a) A train starts from rest with an acceleration of 0.5ms™ Find its speed in Kmh™' when it has moved
through 100 m.
{b) Prove that the rate of change - Ot .:'z.f-cﬁu( L.{',JFJ‘)L’:‘ Ltsd @;ufr)‘a.ﬂ il S < r"’v{f-’i’:-'-«'h‘ (b)
of momentum of a body is equal to a force acting on it.
§.(a) Calculate the power of a pump which & s oy - CF % Sk S 6m 210 S Sy 200 Kgut il (a) -6
can lift 200 Kg of water through a height of 6m in 10 seconds.
(b) Find a force from its perpendicular components _’4";(:"“ P sa J‘/i‘,;f St LonZ S B (b)
by using a figure. . .
W 2o pp L1.Sem? ELEA L) oty S ST H S 60 S TN L I gl () -7
7.(a) A student presses her palm by thumb with a force of 75 N. What would be the pressure under her thumb
having.contact area |,5¢m?
(b) Define linear thermal expansion in solids. - et Sz u I S s 4 Szt o (b)
Derive its equation. L =L, (1+aAT) L=L,(1+aAT)
' 14 - 119 - 38500
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